So[ul‘(on_s (3,32— 3.38_ 2.39. F.LO- FLG_ L. ol \(.20)

-£[£E§‘ :
it My () L
(@) mk({): 62<a+,‘> oy
m', (0) = ezw—')-ze": 5 =3 E[%l2
(b) ELxJ-m
my (t) = @2(@,!). 2€+)_26+ . 2ot ez(ef_l)
VV\;'( e @2(60") 228 + 2 e QZ(QO-’)

:LJJ—Z:Q

(¢) r2- E[XJ-FE[x) - 6-L=2
T= V2 ,

?:iz y: O(+J; X
my (). ELM)-Ele (o)t |

- Ele B Wt] _ & [em;t)l sine €

s & Cﬁns¥an}

wi th reJP&CJf
I

ot

0. ere€) -, m(pt) €L

€
m, () = " m ()

Hena /



Eé-—g—c-f- \/: ao—(-a, X‘-{—ale --- +Qp Xr\

My (t) < B[] gl (o0 woteme it ]

- E fe,m. AN eanxnt]

gy Mclepmxd encj i

e Mat

: EEQO&} EL&%T ETS X ]
Qo b

= 6 mxl(a‘l{:) mX'L(a;_(:) - = - mxm(al\t>
Je

- ¢ u mx;Cth)'

F.40 Ve 8X « €¥. =8

_ st
my(B)= & m, 3¢ mXL(Gt)

Q.= 6
(uk .:IZ'BQ UO;S-L\ Y\:Q, ao:_8/ a‘:g OV\A >

a2
X oo N(2,4) =y m )= ™77

6t 4 gl t2-/2.

5E+JCL/2_
>(’L ~NJ N(5/ O =) m)(q,“_) = @
30t 4 365
=) mxz(é‘é): e "

_gt 31t 36¢
Hénu, mYCli) = é,g Q(ét_*_ | /L) 6(30e'*‘ Z)

_6t+@‘7+30t -+ 8‘t772 +36t}2
= &

Q28t+ U3 t>, = N~ N(28, \l'—?—B



Lo X no N (10,32) Vo N(‘i,ul)

———

(@ K=Y is rormally dishabutid
ELX-Y) - EUX) _E[Y):- 1p-q-1
VOXN] - VDX (0] = VXD oy Ly
=V LX) 4 (20*vEY)
= VXTI VIY]L 35%4% 25

= X——\{ ~N N(lzzs).

(b) P x<¥)=P(x-Veo)= P (XY £L)

o

:P(X_‘%i £-02) = 04203

24 2y
10 (b))  J x - 89,25 7 %% 520,63%5 24

24 24 '
2. = Lu6 920 2 Y s 292 Jyb2

izt

b= BENY = I 5,32

n ZX;L _ inz

bo = § - biX= 2% . b, 2% o -k, G

24 24

=) L«‘ﬂwr (‘e_SreSSion G, & }J - ,u,%zél - 62[“32 K
iy

{C) ><—_3,L4§ =) Y: 524,42 364Y -4, 6231 = 15705;6



n 2 %2 _ (Zx-\ﬁl
ZX\Z Llél-l/l-f =3 }_(': L6y \y = 5 &, 05
3
2.y = k6,2 - J= 462 - 5335
| 3
Zxaz: 32040 Zx-\;;—_ 3198,.2

=J ')91:: 00,0983 y 5020,2[’3[%-

A CTI. on (2o \s %NU\ ‘0\7’

b, +* T« S\i FR .
2

N Syx
Sxx:Q‘ 2. Ry = @*i)L)/f\ = 513l
‘L—ﬁ = 2,306 <°l€: 6)
2

5= S ok " S\,Y-b,Sx\/: 0%

n-2 Fi 2
T
=2 CI(0,2137 1 3,306\ 2012 (3200

8 (513),5)

= <"5/531 ; 6,0|53>



